	PEDIGREE PRACTICE PROBLEMS
	NAME: ________________________________________

DATE:_________________________ 


Use the information provided below to create a pedigree. Then answer the question at the end of each description.

1. A man and woman marry. They have five children, 2 girls and 3 boys. The mother is a carrier of hemophilia, an X-linked disorder. She passes the gene on to two of the boys who died in childhood and one of the daughters is also a carrier. Both daughters marry men without hemophilia and have 3 children (2 boys and a girl). The carrier daughter has one son with hemophilia. One of the non-carrier daughter’s sons marries a woman who is a carrier and they have twin daughters. What is the percent chance that each daughter will also be a carrier?
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2. Pedigree Problem 1:

Below is a pedigree for an inherited lung disease.  

A) Provide the genotypes of each of the individuals marked with lower case letters.

